
Náhradńı př́ıklady za 3. cvičeńı

1. V oboru komplexńıch č́ısel řešte rovnice:

(a) z (z − 4) − 1 = 8i

(b) (5 − i) z = 3i
7+6i

(c) z3 = 8

(d) z4 + 2 = 0

2. Mějme matice

A =

1 −2
3 1
0 2

, B =
(
3 0 −1

)
, C =

(
2 0 0 1
0 −1 3 2

)
, D =

(
1 0
−2 1

)
, E =


2
0
−1
5

,

F =

 1 3 0
0 −2 1
−1 0 5

, G =

−2 0 0
0 1 2
4 7 0

, H =

(
0 4
−3 2

)
, I =

(
2 −1 0 4

)
.

Spoč́ıtejte (pokud je definováno):

(a) D + HT

(b) A− F

(c) GF

(d) G2 − 3F

(e) IE

(f) EI

(g) FGAT

(h) D3 + 4DH −H2

(i) BACE −BFBT

(j) H−1

(k) G−1

3. Necht’ M =

(
a b
c d

)
, vypočtěte M−1.

1


